
hgb20−7n

hgb20−5a

−4 −3 −2 −1   0   1   2   3

   −50      0    50  100 150

−3

−2

−1

  0

  1

  2

−50

    0

  50

100

150

xr = log[L/Lu]

L u
L u=28cd/m2

L
Bereich Büro-
Leuchtdichte

F*TUBLOG,U (xr)=72 log(xr) + 50

Fab(xr)=unbunte Rezeptorerregungen N, W, N+W

F*( xr)
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
a0=−1,00, b0=1,00

a1=1,00, b1=1,00

W

N
F−1_1

Prozeß N

m
N
=−0,98

F1_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F1_1Prozeß N+W

F−1_1

Prozeß N

m
N
=−0,98

F1_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F1_1Prozeß N+W

HDR-Bereich nach ISO 22028-5

hgb20−6a

−4 −3 −2 −1   0   1   2   3

   −50      0    50  100 150

−3

−2

−1

  0

  1

  2

−50

    0

  50

100

150

xr = log[L/Lu]

L u
L u=28cd/m2

L
Bereich Büro-
Leuchtdichte

F*TUBLOG,U (xr)=72 log(xr) + 50

Fab(xr)=unbunte Rezeptorerregungen N, W, N+W

F*( xr)
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
a0=−1,00, b0=1,00

a1=1,33, b1=1,00

W

N
F−1_1

Prozeß N

m
N
=−0,98

F1,33_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F1,33_1Prozeß N+W

F−1_1

Prozeß N

m
N
=−0,98

F1,33_1

Prozeß W

m
W

=0,74 m
N+W

=0,74

F−1_1
+ F1,33_1Prozeß N+W

HDR-Bereich nach ISO 22028-5

hgb20−7a

−4 −3 −2 −1   0   1   2   3

   −50      0    50  100 150

−3

−2

−1

  0

  1

  2

−50

    0

  50

100

150

xr = log[L/Lu]

L u
L u=28cd/m2

L
Bereich Büro-
Leuchtdichte

F*TUBLOG,U (xr)=72 log(xr) + 50

Fab(xr)=unbunte Rezeptorerregungen N, W, N+W

F*( xr)
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
a0=−1,00, b0=1,00

a1=0,75, b1=1,00

W

N
F−1_1

Prozeß N

m
N
=−0,98

F0,75_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F0,75_1Prozeß N+W

F−1_1

Prozeß N

m
N
=−0,98

F0,75_1

Prozeß W

m
W

=1,30 m
N+W

=1,30

F−1_1
+ F0,75_1Prozeß N+W

HDR-Bereich nach ISO 22028-5

hgb20−8a

−4 −3 −2 −1   0   1   2   3

   −50      0    50  100 150

−3

−2

−1

  0

  1

  2

−50

    0

  50

100

150

xr = log[L/Lu]

L u
L u=28cd/m2

L
Bereich Büro-
Leuchtdichte

F*TUBLOG,U (xr)=72 log(xr) + 50

Fab(xr)=unbunte Rezeptorerregungen N, W, N+W

F*( xr)
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
a0=−1,00, b0=1,00

a1=1,00, b1=1,00

W

N
F−1_1

Prozeß N

m
N
=−0,98

F1_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F1_1Prozeß N+W

F−1_1

Prozeß N

m
N
=−0,98

F1_1

Prozeß W

m
W

=0,98 m
N+W

=0,98

F−1_1
+ F1_1Prozeß N+W

HDR-Bereich nach ISO 22028-5


